sample questions percent of has 8 layers timelypractice.com

1. (a) Work out 50% of £840 {ONLY even digits}
a) Work out 50% of £87 {includes odd digits}

b) Work out 50% of £15.60

(a)
(b) Work out 50% of £0.64
- (a)
(b)
3. Work out 25% of £58
4. (a) Work out 10% of £54200
(b) Work out 10% of £17.40
(¢) Work out 10% of £23
5. Work out 75% of £58
(a) Work out 20% of £35
(b) Work out 5% of £35
(a) Work out 30% of £4200
(b) Work out 15% of £82.00
b) Work out 80% of £38
(c) Work out 1% of £38
(

d

)
)
)
)
8. (a) Work out 40% of £38
(b)
)
) Work out 2% of £38
)

(e) Work out 2.5% of £38
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